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1. Two is 10% of & and 20% of y. What is z — y? 8. Let A, M, and C be digits with
(a)1 ®)2 ()5 (D) 10 (E) 20 (1004 + 10M + CYA + M + C) = 2005.
2. The equations 2z +7 — 3 and bw — 10 = —2 have the same solution for x. What e o
is the value of b7 What is A7
(A) -8 (B) 1 () -2 (D) 4 (E) 8 (a1 (B) 2 (©)3 (D) 4 (E) 5

9. There are two values of a for which the equation 42> + az + 8x + 9 = 0 has only
onc solution for x. What is the sum of those values of a?

(A) —16 (B) -8 (©)o (D) 8

3. A rectangle with a diagonal of length
the area of the rectangle?

) = (®) 22

s twice as long as it is wide. What is

(E) 20

(D) «*

1

© 5

10. A wooden cube n units on a side is painted red on all six faces and then cut

into n8 unit cubes. Exactly one-fourth of the total number of faces of the unit
cubes arc red. What is n?

(a)3 (B)4

4. A store uormally sells windows at $100 each. This weck the store is offering one
free window for each purchase of four. Dave needs seven windows and Doug
needs eight windows. How many dollars will they save if they purchase the
windows together rather than separately?

(A) 100 (B) 200 (C) 300

()5 (D) 6 (B) 7

11. How many three-digit nunbers satisfy the property that the middle digit is the
average of the first and the last digits?

(A) 41 (B) 12 (C) 43

(D) 400 (E) 500

. The average (mean) of 20 nunbers is 30, and the average of 30 other munbers
is 20. What is the average of all 50 numbers?

(A) 23 (B) 24 (©) 25

(D) 44 (E) 45

12. A line p: through A(1,1) and B(100,1000). How many other points with
integer coordinates are on the line and strictly between A and B7

(A)o (B)2 3 (D) 8

(D) 26 (E) 27
6. Josh and Mike live 13 miles apart. Yesterday Josh started to ride his bicycle

E) 9
toward Mike's house. A little later Mike started to ride his bicycle toward Josh’s ®)

house. When they met, Josh had ridden for twice the length of time as Mike 13. In the five-sided star shown, the letters A. B, C. D and I are replaced by the

and at four-fifths of Mike's rate. How many miles had Mike ridden when they
met?

numbers 3, 5, 6, 7 and 9, although not necessarily in that order. The sums of the
nimbers at the ends of the line segments AR, BC, CD, DE and EA form an

arithmetic sequence, although not necessarily in that order. What is the middle
term of the arithmetic sequence?
7. Square EFGH is inside square ABCD so that cach side of EFGH can be @

extended to pass through a vertex of ABCD. Square ABCD has side length

V30, E is between B and H, and BE = 1. What is the area of the inner square

(A) 4 (B) 5 (©) 6 (D) 7 (B) 8

EFCGH? @‘ ‘@
E
) ® ®
'd (A) 9 (B) 10 @©n ® (@71 (E) 13
G 14. On a standard die one of the dots is removed at random with each dot equally
likely to be chosen. The die is then rolled. What is the probability that the top
D C o - .
face has an odd number of dots?
(A) 25 (B) 32 (C) 36 (D) 40 (E) 42 11

) ®) 5 © (D) 5 ®) &
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15. Let AB be a diameter of a circle and C be a 1::%2@ with 2- AC = BC. 18, Call a number “prime-looking” if it is composite but not divisible by 2, 3, or
Let D and E be points on the circle such that DCLAB and DFE is a second 5. The three smallest prime-looking numbers are 49, 77, and 91. There arc 168
diameter. What is the ratio of the area of ADCFE to the arca of AABD ? prime numbers less than 1000. How many prime-looking numbers are there less

D than 10007
(A) 100 (B) 102 (C) 104 (D) 106 (E) 108

19. A faulty car odometer proceeds frow digit 3 to digit 5, always skipping the digit
4, regardless of position. For example, after traveling one mile the odometer

A C B changed [romn 000039 to 000050, If the odometer now reads 002005, how many
miles has the car actually traveled?
(A) 1101 (B) 1162 (C) 1601 (D) 1605 (E) 1804
E . 20. For each x in [0. 1], define
1 1 1 1 2 i o1
A} = B) - C DY - hd 2. o< <35
(A) 5 B) 7 © D) 5 (E) 3 Jlo)—

2 — 2, x.wA&,A l.
16. Three circles of radius s are drawn iu the first quadrant of the zy-plane. The
first circle is tangent to both axes, the sccond is tangent to the first circle and Let f = f(f(x)). and f
the z-axis, and the third is tangent to the first circle and the y-axis. A circle of how many values of x in [0,1] is f
radius r > s is tangent to both axes and to the sccond and third circles. What

= fI(f(x)) for each integer n > 2. Tor
) = 1/27
(A) o (B) 2005 (C) 4010 (D) 20052 (E) 22005

i 21. How many ordered triples of integers (a,b,¢). with @ > 2, b > 1, and ¢ > 0.
satisfy both log, b — ¢ and a + b+ ¢ = 20057

(A) 0 (B) 1 (©) 2 (D) 3 (E) 4

| 22, A rectangular box I is inscribed in a sphere of radius ». The surface area of I
is 384, and the sum of the lengths of its 12 edges is 112. What is »7

s (A) 8 (B) 10 (C) 12 (D) 14 (E) 16
23. Two distinct numbers ¢ and b are chosen randomly from the set
(A) 5 (B) 6 (©) 8 (D) 9 (E) 10 {2, mﬁmmu. L, 28 QEWM is the probabil ,.Mw::,: log, b is an w:m%m_,@ ~
17. A uuit cube is cut twice to form three triangular prisms, two of which are (4) 25 B) 300 © 700 D) 50 (E) 9

congrucnt. as shown in Figure 1. The cube is then cut in the same manner
aloug the dashed lines shown in Figure 2. This creates nine picces. What is the
volume of the piece that contains vertex W7

24. Let P(r) = (x — 1)(x — 2){z — 3). For how many polynomials Q{x) does there
exist a polynomial R(x) of degree 3 such that P (Q(x)) = P(x) - R{x) ?
(A) 19 (B) 22 (C) 21 (D) 27 (E) 32

s L 4

25. Let S be the set of all points with coordinates (z.y, ), where «, y, and = arc
each chosen from the set {0. 1,2}, How many equilateral triangles have all their
vertices in .S 7

- W= (A) 72 (B) 76 (C) 80 (D) 84 (E) 88
Figure | Figure 2

® © 4 ) & (E®)

|-
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. (D) 1t is given that 0.1z = 2 and 0.2y = 2, so x = 20 and y = 10. Thus
z—y=10
. (B) Since 2z + 7 = 3 we have x = —2. Hence
—2=bzr—10=—-2b—10, so 2b=—8, and b= —4,

. (B) Let w be the width of the rectangle. Then the length is 2w, and
2% = w? + (2w)? = 5w’
The area is consequently w(2w) = 2uw? = msm.

. (A) If Dave buys seven windows separately he will purchase six and receive one
free, for a cost of $600. If Doug buys eight windows separately, he will purchase
seven and receive one free, for a total cost of $700. The total cost to Dave
and Doug purchasing separately will be $1300. If they purchase fifteen windows
together, they will need to purchase only 12 windows, for a cost of $1200, and
will receive 3 free. This will result in a savings of $100.

. (B) The sum of the 50 numbers is 20 - 30 + 30 - 20 = 1200. Their average is
1200/50 = 24.

. (B) Because (rate)(time) = (distance), the distance Josh rode was (4/5)(2) =
8/5 of the distance that Mike rode. Let m be the number of miles that Mike
had ridden when they met. Then the number of miles between their houses is

8 13
13=m+ wS = ﬂﬁr
Thus m = 5.

. (C) The symmetry of the figure implies that AABH, ABCE, ACDF, and
ADAG are congruent right triangles. So

BH=CE=+BC2-BE?=+/50-1=7,
and EH = BH — BE =7 — 1 = 6. Hence the square EFGH has area 62 = 36.
OR

As in the first solution, BH = 7. Now note that AABH, ABCE, ACDF, and
ADAG are congruent right triangles, so

Area(EFGH) = Area(ABCD) — 4Area(AABH) =50 — 4 (3 -1-7) = 36.
. (D) Since A, M, and C are digits we have
0<KA+M+C<9+9+9=27.
The prime factorization of 2005 is 2005 = 5 - 401, so
100A+10M +C =401 and A+ M4 C =5,
Hence A=4, M =0,and C = 1.

|

|
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9. (A) The quadratic formula yields

_—la+8)+/a+8P-4-4-9

a 2.2

The equation has only one solution precisely when the value of the discriminant,
(a + 8)% — 144, is 0. This implies that ¢ = —20 or @ = 4, and the sum is —16.

OR

The equation has one solution if and only if the polynomial is the square of
a binomial with linear term +v4z? = 42z and constant term +v9 = 3.
Because (2z % 3)? has a linear term +12z, it follows that a + 8 = £12. Thus a
is either —20 or 4, and the sum of those values is —16.

10. (B) The unit cubes have a total of 6n® faces, of which 6n? are red. Therefore

Lot 1

»I%H:, so n=4.

11. (E) The first and last digits must be both odd or both even for their average to

be an integer. There are 5 -5 = 25 odd-odd combinations for the first and last
digits. There are 4 - 5 = 20 even-even combinations that do not use zero as the
first digit. Hence the total is 45.

12. (D) The slope of the line is

1000-1 111

100-1 11’
s0 all points on the line have the form (1+11¢, 1+111¢}. Such a point has integer
coordinates if and only if ¢ is an integer, and the point is strictly between A and
B if and only if 0 < t < 9. Thus there are 8 points with the required property.

13. (D) Each number appears in two sums, so the sum of the sequence is

23 +5+6+7+9) =60.

The middle term of a five-term arithmetic sequence is the mean of its terms, so
60/5 = 12 is the middle term.

The figure shows an arrangement of the five numbers that meets the requirement.
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14. (D) A standard die has a total of 21 dots. For 1 < n < 6, a dot is removed from
the face with n dots with probability n/21. Thus the face that originally has n
dots is left with an odd number of dots with probability n/21 if n is even and
1 —n/21 if n is odd. Each face is the top face with probability 1/6. Therefore
the top face has an odd number of dots with probability

1 1 2 3 4 5 6 1 3
m?-mvﬁé-mfm%-&+mv -m?mv
_166_1
6 21 21
OR

The probability that the top face is odd is 1/3 if a dot is removed from an odd
face, and the probability that the top face is odd is 2/3 if a dot is removed from
an even face. Because each dot has the probability 1/21 of being removed, the
top face is odd with probability

1\ (1+3+5 . 2\ (2+4+6)_33_ 11

3 21 3 21 T 63 2l
15. (C) Let O be the center of the circle. Each of ADCE and AABD has a
diameter of the circle as a side. Thus the ratio of their areas is the ratio of the
two altitudes to the diameters. These altitudes are DC and the altitude from

C to DO in ADCE. Let F be the foot of this second altitude. Since ACFO is
similar to ADCO,

CF _CO AO-AC 3AB-3AB 1

DC DO~ DO IAB 3’
which is the desired ratio.
D
[0}
A T B
E
OR

Because AC = AB/3 and AO = AB/2, we have CO = AB/6. Triangles DCO
and DAB have a common altitude to AB so the area of ADCOQ is w the area of
AADB. Triangles DCO and ECO have equal areas since they have a common

Solutions 2005 56 AMC 12 A 5

base CO and their altitudes are equal. Thus the ratio of the area of ADCE to
the area of AABD is 1/3.

16. (D) Consider a right triangle as shown. By the Pythagorean Theorem,
(r+8)2=(r—35)%+(r—s)?

ﬁm+wﬁm+muHﬂulmﬁm+oum+ﬁmlmﬁm+mm

and
0=r?—10rs +9s° = (r - 9s)(r — s).

But r # s, 80 7 =9s and r/s = 9.

Because the ratio r/s is independent of the value of s, assume that s = 1 and
proceed as in the previous solution.

17. (A) The piece that contains W is shown. It is a pyramid with vertices V, W, X, Y,
and Z. Its base WXY Z is a square with sides of length 1/2 and its altitude
VW is 1. Hence the volume of this pyramid is

i3 0-5

w%i
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(A) Of the numbers less than 1000, 499 of them are divisible by two, 333 are
divisible by 3, and 199 are divisible by 5. There are 166 multiples of 6, 99
multiples of 10, and 66 multiples of 15. And there are 33 numbers that are
divisible by 30. So by the Inclusion-Exclusion Principle there are

499 + 333 + 199 — 166 — 99 — 66 + 33 = 733

numbers that are divisible by at least one of 2, 3, or 5. Of the remaining
999 — 733 = 266 numbers, 165 are primes other than 2, 3, or 5. Note that 1 is
neither prime nor composite. This leaves exactly 100 prime-looking numbers.

(B) Because the odometer uses only 9 digits, it records mileage in base-9 nu-
merals, except that its digits 5, 6, 7, 8, and 9 represent the base-9 digits 4, 5, 6,
7, and 8. Therefore the mileage is

2004psse o =2 9% + 4 =2.729 4+ 4 = 1462.

OR

The number of miles traveled is the same as the number of integers between 1
and 2005, inclusive, that do not contain the digit 4. First consider the integers
less than 2000. There are two choices for the first digit, including 0, and 9
choices for each of the other three. Because one combination of choices is 0000,
there are 2 - 93 — 1 = 1457 positive integers less than 2000 that do not contain
the digit 4. There are 5 integers between 2000 and 2005, inclusive, that do not
have a 4 as a digit, so the car traveled 1457 + 5 = 1462 miles.

(E) The graphs of y = f(«) and y = fl2(x) are shown below. For n > 2 we
have

fir=(22), if
fir(2 - 22), if

[

FPl@) = f N (fl2)) =

0<z
1
g<z

|/\ I/\

Let g(n) be the number of values of = in [0,1] for which fI*l(z} = 1/2. Then
F"l(z) = 1/2 for g(n—1) values of z in [0, 1/2] and g(n—1) values of z in [1/2, 1].
Furthermore fI"(1/2) = fl*~1(1) = 0 # 1/2 for n > 2. Hence g(n) = 2g(n—1)
for each n > 2. Because g(1) = 2, it follows that g(2005) = 22005,

A f
1+ 14

12f--fmmeme- 2 pf--A---f---\-

! ! L >

t 1 f
172 1 174 12 34 1
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(C) The two equations are equivalent to b= al**"") and ¢ = 2005 — b — a, so

2005 )

c=2005—a¢ ) —a.

If ¢ > 1, then
2005
b> 2" > 2005 > 2006 —a—c=b,

which is a contradiction. For ¢ = 0 and for ¢ = 1, the only solutions are the
ordered triples (2004,1,0) and (1002, 1002, 1), respectively. Thus the number of
solutions is 2.

(B) Let the dimensions of P be z, y, and z. The sum of the lengths of the edges
of Pis 4(z + y + ), and the surface area of P is 2xy + 2yz + 2z2, so

z+y+2=28 and 2zy+2yz+ 2zz=384.
Each internal diagonal of P is a diameter of the sphere, so
(2r)? = (@ +y* + 2%) = (x +y + 2)% — 22y + 222 + 2yz) = 287 — 384 = 400.

So 2r =20 and r = 10.

Note: There are infinitely many positive solutions of the system x +y+z = 28,
2xy+2yz+2xz = 384, so there are infinitely many non-congruent boxes meeting
the given conditions, but each can be inscribed in a sphere of radius 10.

(B) Let ¢ = 27 and b= 2%. Then

log2*  klog2 &
log, b = log,, 2% = =22 2
0og, 0824 log2s  jlog2 j

1

so log, b is an integer if and only if & is an integer multiple of j. For each j, the
25

number of integer multiples of j that are at most 25 is . Because j # k, the

J

—_—
[R—

number of possible values of &k for each j is Tﬂ_ - 1. Hence the total mumber of

ordered pairs (a, b) is

ww
MUQWJ Lv uwi:iiiiﬁ@::?%
Jj=1

Since the total number of possibilities for a and b is 25 - 24, the probability that

log, b is an integer is
62 31

25-24 300

(B) The polynomial P(z) - R(z) has degree 6, so Q(z) must have degree 2.
Therefore @ is uniquely determined by the ordered triple (Q(1), Q(2), Q(3)).
When z = 1, 2, or 3, we have 0 = P(z) - R(z) = P(Q(z)). It follows that
(Q(1), Q(2), Q(3)) is one of the 27 ordered triples (i, j, k), where 4, j, and k can

Solutions 2005 56 AMC 12 A 8

be chosen from the set {1,2, 3}. However, the choices (1,1,1), (2,2,2), (3,3,3),
(1,2,3), and (3,2,1) lead to polynomials Q(z) defined by @(z) =1, 2, 3, z, and
4 —z, respectively, all of which have degree less than 2. The other 22 choices for
(Q(1),Q(2), Q(3)) yield non-collinear points, so in cach case Q(z) is a quadratic
polynomial.

(C) Let A(x1,y1,21), Blwa,y2,22), and C(x3,93,23) be the vertices of such a
triangle. Let

(Azp, Ay, Azk) = (Tr41 — Tk, Yt1 — Yk Zht1 — 2k), for 1<k <3,

where (4, ya, 24) = (x1,y1,21). Then (JAzg|,|Ayk|, |Az|) is a permutation of
one of the ordered triples (0,0,1), (0,0,2), (0,1,1), (0,1,2), (0,2,2), (1,1,1),
(1,1,2), (1,2,2), or (2,2,2). Since AABC is equilateral, AB, BC, and CA
correspond to permutations of the same ordered triple (a,b,¢). Because

3 3 3
MD&» = MDHSG = MUDNE ”O“
k=1 k=1 k=1
the sums
3 3 3
Slazl, Y lAwl, and > [As
k=1 k=1 k=1

are all even. Therefore (|Azg|,|Ayg|,|A2|) is a permutation of one of the
triples (0,0,2), (0,1,1), (0,2,2), (1,1,2), or (2;2,2).

If (a,b,¢) = (0,0,2), each side of AABC is parallel to one of the coordinate
axes, which is impossible.

If (a,b,¢) = (2,2,2), each side of AABC is an interior diagonal of the 2 x 2 x 2
cube that contains S, which is also impossible.

If (a,b,c) = (0,2,2), each side of AABC is a face diagonal of the 2 x 2 x 2
cube that contains S. The three faces that join at any vertex determine such a
triangle, so the triple (0,2, 2) produces a total of 8 triangles.

If (a,b,c) = (0,1,1), each side of AABC is a face diagonal of & unit cube within
the larger cube that contains S. There are 8 such unit cubes producing a total
of 8 - 8 = 64 triangles.

There are two types of line segments for which (a,b,¢) = (1,1,2). One type
joins the center of the face of the 2 x 2 x 2 cubef@p a vertex on the opposite face.
The other type joins the midpoint of one edge of the cube to the midpoint of
another edge. Only the second type of segment can be a side of AABC. The
midpoint of each of the 12 edges is a vertex of two suitable triangles, so there
are 12 - 2/3 = § such triangles.

The total number of triangles is 8 + 64 4+ 8 = 80.




